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Honors Physics Vectors/Projectiles WS #2H
Period Mrs. Nadworny
(21 pts) Resultants

Directions -Read online textbook pages 85 - 87. Solve the problem using both methods learned in

class.
1. Vectors A and B have a resultant R. Vector A and resultant R are represented in the diagram

below. ,

Which vector best represents vector B?

®) s B _ 8 , 0 |s D . 8

2. A 5.0 N vector could have perpendicular components of
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3. Afrog hops 10.0 meters North along a river bank, and then hops 4.0 meters East to a lily pad. What is

the displacement of the frog?

Scale Method Math Method
92::\\;?0\': s lemz=2m ottti: 024 b o2 1
" ccvgggh A A . ('9‘0‘“\2 + (4.0m) CrackBor:
g | e g
g LT e 4 Lyom  O=tan! (%) i
225°€5¢ | o2 > boer! (H2mN Mt

‘2_2_0 6 o l\)

v

Answers in size order: 11, 22
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Go to https://www.geogebra.org/m/igA3FrVk. It should look like this:

4. The top right corner lists the velocity of the river. Leave this set
at 3 m/s. The bottom right hand corner shows the velocity of
the boat. Leave this set at 4.5 m/s. In the bottom middle the
Aim Direction is set to 259. Click Run to watch the boat cross
the river. The time will display in the bottom right hand corner.

5. Change the Aim Direction (launch angle) to - 90°, 0°, 909, and
any two other angles (one positive and one negative).
a. Which angle takes the least amount of time for the boat to cross the river?

Oo
b. Explain why you think that angle takes the least time.
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6. Setthe launch angle to 0c. Click Run to launch the boat. Record the time it takes to cross the
flowing river.
.13

7. Inthe top right corner, set the velocity of the river to 0 m/s. Click Run to launch the boat.
Record the time it takes to cross the stationary river.
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8. Compare your results from these two trials. Does the speed of the river affect the time it
takes the boat to cross the river?

. The times are e ame. The viver does _
NOT affech the Fime it fates e beod to cross .

9. Set the river velocity back to 3 m/s. Draw and label a triangle showing the two components of
the velocity (boat velocity and river velocity) as well as the boat’s resultant velocity.
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10.Calcujate the magnitude of the boat’s resultant velocity when the river is on and label this
value on the diagram you drew in the previous question. Show your work below.

GRS Ve 5
[45m9)" + (3 )
B mlg



